
T.O.S. FLOOR
13' - 0"

10

EX SECOND FLOOR
13' - 5 1/2"

10.1

FINISHES - SEE ARCH. DWGS.

AL600 STIFFCLIP w/(3) SCREWS
INTO EACH STUD w/(3) INTO
CONT. GA.PL.

CONT. 18GA. PLATE
FASTENED TO DECK w/
(2)#10 SCREWS @ 12"O.C.

600S162-43mil STUDS @ 16"O.C.
FASTEN w/(5) SCREWS PER
CONNECTION

5/8" DENS-GLAS

5/8" DENS-GLAS

CAP - SEE ARCH. DWGS.

CONT. L3x3x5/16
PERIMETER ANGLE

EXTERIOR WALL PANEL
SYSTEM - SEE ARCH. DWGS.

1' - 6"

2' - 2"

1' - 7" (EOJ)(EOD)

L3x3x5/16 x 0'-6"

1/4 4

1/4 4
TYP.

1/4
TYP.

3/16

EACH END
ACROSS BOTH
JOIST
FLANGES

(E) BLDG BEYOND

1/4

1/4
TYP.

HSS OUTRIGGER - SEE PLAN

HSS3x2 1/2x5/16 BETWEEN
OUTRIGGERS FOR DECK

SUPPORT

TOP AND BOTTOM TRACK:
600T125-43mil - FASTEN TO
EACH STUD FLANGE w/#10 SCREW

2' - 0" (EOD)

1' - 11" (EOJ)1/4 2

1/4 2
TYP.

FINISHES - SEE
ARCH. DWGS.

CFMF INFILL - SEE
ARCH. DWGS.

CONT.
L3x3x3/8

K

10.7

L

WT4x12 x 4" LONG
CENTERED ON COLUMN

AND GIRT

1/4

1/4

TYP.
3-SIDES

EACH GIRT
TO WT

COLUMN -
SEE PLAN

GIRT -
SEE PLAN

1/4"

5
 1

/2
"

9
 1

/2
"

NOTE: SIM. AT LINE-11.5

K

10.1

L

3"

5
 1

/2
"

9
 1

/2
" GIRT - SEE PLAN

L4x4x1/2 x 4" LONG
TOP AND BOTTOM

COLUMN - SEE PLAN

1/4
TYP. 3-SIDES

1/4
TYP. 3-SIDES

HSS COLUMN
SEE PLAN

HSS BEAM/HEADER -
SEE PLAN

6
"

3/8" END PL

3 1/2" x 5/16" x 6" PL
CENTERED ON HSS

3 1/2" x 5/16" x 6" PL
WELDED TO COLUMN

(2)3/4"Ø THRU BOLTS

1 1/2"

1 1/2"

2
"

2
"

6
"

6
"

PROVIDE (2)3/8" x 6"SQ
PLATES, (1) w/VERTICAL
LONG-SLOTTED HOLES

3/8" CAP PL

(2)3/4"Ø A325 BOLTS

BEAM - SEE PLAN

TYP.

BEAM - SEE
PLAN

L7x4x5/8 (LLV) x
8"LONG

GIRT -
SEE PLAN

5/16 2

5/16 2

6
"

V
A

R
IE

S
 -

S
E
E
 A

R
C

H
.

D
W

G
.

ANGLE BETWEEN
JOISTS OR

CONT. BEAM -
SEE PLAN

METAL DECKING
SEE PLAN

1/2"Ø @ 24"O.C.

6"CFMF w/CONT.
TRACK TOP AND
BOTTOM

A
l l
ie
d
 E
n
g
in
ee
ri
n
g

S
tr
u
ct
u
ra
l 
 M

ec
h
a
n
ic
a
l 
  
E
le
ct
ri
ca
l 
 C
o
m
m
is
si
o
n
in
g

1
6
0
 V
er
a
n
d
a
 S
tr
ee
t

P
o
rt
l a
n
d
, 
M
a
in
e  
0
4
1
0
3

T
:
2
0
7
.2
2
1
.2
2
6
0

F
:
2
0
7
.2
2
1
.2
2
6
6

W
eb
:
w
w
w
.a
ll
ie
d
-e
n
g
.c
o
m

D
a
te

:

D
ra

w
n
 B

y
:

C
h
e
c
k
e
d
 B

y
:

P
ro

je
c
t 
M

g
r:

P
ro

je
c
t 
N

o
:

C
a
d
 F

ile
:

10987654321

10987654321

A

B

C

D

E

F

G

A

B

C

D

E

F

G

C
O

P
Y

R
IG

H
T
 2

0
1
5
 A

L
LI

E
D

 E
N

G
IN

E
E
R

IN
G

, I
N

C
.

C

G
ra

p
h
ic

S
c
a
le

:
1
"

0
"

N
  
 O

  
 R

  
 T

  
 H

  
 E

  
 A

  
 S

  
 T

  
  
  
 A

  
 I
  
 R

P
O

R
T
L
A

N
D

 I
N

T
E
R

N
A
T
IO

N
A

L
 J

E
T
P
O

R
T

1
0
1
1
  
W

E
S
T
B
R

O
O

K
 S

T
R

E
E
T

P
O

R
T
L
A
N

D
, 
M

A
IN

E
 0

4
1
0
2

1
5
0
2
8

W
P
F

T
G
RA

N
T 
HA

YS
 A
SS
O
C
IA
TE

S
A
RC

HI
TE

C
TU
RE

 &
 IN
TE

RI
O
R 
D
E
SI
G
N

P.
O
.B
O
X
 6
17
9 
FA
LM

O
UT
H 
M
AI
N
E
 0
41
05

20
7.
87
1.5
90
0
 w
ww
.g
ra
nt
ha
ys
.c
o
m

N
:\
P

ro
je

c
ts

\2
0
1
5
\1

5
0
2
8
 ~

 N
o
rt
h
e
a
s
t 
A

ir
 T

e
rm

in
a
l 
B
u
ild

in
g
\0

0
 D

ra
w

in
g
 F

ile
s
 v

2
0
1
5
\1

5
0
2
8
S

.r
v
t

0
1
-2

7
-2

0
1
6

SF-502

P
E
D J
P
M

S
T
R

U
C

T
U

R
A
L
 -
 D

E
T
A
IL

S

1
5
0
2
8
S
.r
v
t

 1" = 1'-0"

D7 DETAIL

 3/4" = 1'-0"

F9 JOIST BEARING AT PORTE COCHERE

 1" = 1'-0"

F7 GIRT CONNECTION

 1" = 1'-0"

F5 GIRT CONNECTION

 1 1/2" = 1'-0"

F1 HSS-TO-HSS CONNECTION

 1" = 1'-0"

F3 HSS COLUMN DEFLECTION CONNECTION

 1 1/2" = 1'-0"

E5 DETAIL

 1 1/2" = 1'-0"

E3 CFMF CURB WALL DETAIL


	Sheets
	S-000 - STRUCTURAL - NOTES
	S-001 - STRUCTURAL - NOTES
	S-002 - STRUCTURAL - ROOF LOADING PLAN
	S-003 - STRUCTURAL - TYPICAL DETAILS
	SB-100 - STRUCTURAL - FOUNDATION PLAN
	SB-200 - STRUCTURAL - BASE PLATE TYPES AND ENLARGED PLAN VIEWS
	SB-500 - STRUCTURAL - FOUNDATION DETAILS
	SD-100 - STRUCTURAL - DEMOLITION PLAN
	SF-100 - STRUCTURAL - SECOND FLOOR LEVEL FRAMING PLAN
	SF-101 - STRUCTURAL - GIRT FRAMING LAYOUT PLAN
	SF-102 - STRUCTURAL - ROOF FRAMING PLAN
	SF-200 - STRUCTURAL - ROD CROSS BRACING ELEVATIONS AND DETAILS
	SF-500 - STRUCTURAL - DETAILS
	SF-501 - STRUCTURAL - DETAILS
	SF-502 - STRUCTURAL - DETAILS


